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No supplementary answer book will be given to any candidate. Hence the candidates should write the
answer precisely.
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Write your roll number on question paper before you start writing answers of questions.
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Answers of all the questions (SHORT ANSWER as well as descriptive) are to be given in the main
answer book only. Answers of SHORT ANSWER type questions must be given in sequential order.

Similarly all the parts of one question of descriptive part should be answered at one place in the answer

book. One complete question should not be answered at different places in the answer book.
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Part-A shall contain question No. 1 consisting of very short type X (Ten) questions. The candidate is
required to answer each question in 20 words.
Part-B shall contain question No. 2 consisting of 5 (Five) questions. The candidate is required to

answer each question in 100 words. Part-C shall contain 3 essay type questions (one from each
section) with internal choice.

Attempt Five question in all. All questions of Part-A and Part-B are compulsory while rest 3 question

are to be attempted from Part-C selecting one question from each sections. All question carry equal
marks. ' -
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PART-A/ 9TT-31
(VERY SHORT TYPE)
(:‘rive the example of Monotonic decreasing and Increasi‘ng
TR T T v 9T e @ e A
Write down the form of following function.

C=2-14+2-38 Q When C in Total Cost and Q quantity of Prod

C=2-14+2-38 Q &l C %ol @@ & Q I H HAT

Find the value of 25x28x4.

99 =1 9F 910 FIe0- 25x28x4.



(viii)  If fixed Cost is 100 and marginal cost function is = 6x+3, then find the total cost function.

afe feer @ 100 # sl Wi @ wER 6x48, A HE O e T hirLl

(ix) Define stationary Inflectiona) Point,

for wwrm @1 fig, vfonfia sifm
(x) State the use of Derivative in Economices.
ST W e & A H adR)

PART-B/¥TT-&
2. Solve: x?-16x+48=0 (use quadratic formula)
et g2 %1 3w F gu Freafafa # ea S x2-16x+48=0

3. Simplify : /48 + ¥81.

; Wﬁm FT FCEAH FHIfAT: /48 + Y81,
1‘7{-3‘5’

Find AB and BA

AB 3R BA %1 9 9 ifs)

1

fun on0=§13x’+3x+5o.mnd9ut,

,, of X, where firms average 00 L W




PART-C / 9TT-¥

SECTION-A/@Us-3H

7. Solve the following: 5x4=20

(1) Find log of 845.78

(i)  Find the Value of (11.5)"

(iii)  Find out the focus and Directrix of given function y=x-6x+12

(iv)  3x*+4x-5=0

(v)  Differentiate between Parabola and Hyperbola Curves and functions

frefafea #1 7@ wifs:

(i)  log845.78 F1 e

(1) (11.5)"* =1 Hed

(iii)  y=x-6x+12 f2U g€ TH W w9 9 sHifead Tl

(iv)  3x? +4x-5=0

(iiiy TrEEn T3 TRWEE 9% U6 %ol § R TR Hifeul
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Solve the Following :

(1) Which is a greats quantity : 4/4 o6/7 ? ;i

(i) Rationalize : (3J5 ~2/3% 2J§)
(ii)  When centre of Rectangular hyperbola is (-2, 4) and a’=4, then Find the equation of thes 4
curve, ;

(iv)  How many words can be formed from the letters of ASSASSINATION?

In How many w ons can be seated around a circular table when two
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specific persons
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SECTION-WVavy -«
. O If the Tth and 12th terms of an AP are 20 and 35 find the series.
11 4 8]
' IFA 4 2 1] Find out Inverse of A? (AY)
3 2 2
i) Wnite down the Properties of Determinants?
11 | }
v} Provedl l4x 1 |=xy )
18 1. 1+Yy
@ APt st W wee s area w20 she 3s, @ @ soft @m s
1 4 3]
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1 1 1+y
OR/39gar
(i) Sclve the following equation using Cramer's Rule.
FJ‘L mtmﬁmm&mﬁﬂmaﬁmaﬂm [0)
3 Ix-y+d4z=13 &0 “
A
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2% term in the expansion of (:-ﬂ)“H M{_’ .
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SECTION-C/@vs-¥d
(i)  Give the demand function X=KP< find out the elasticity of demand?

Ifk T FeM X=KPC &, @ | &1 d@i" 9 Hif
RSITTC= %x2 +8x+10 and TR =20x, then find out the profit maximizing quantity of
Output?
afx TC= %x2+8x+103'ﬁ'{ TR =20, 3 @ @9 S F Al A F T
EAIE L

(iii)  y=logyx®-1 differentiate.

y=long3 _1 SAgHeA HIfST

=

(iv)  Integrate I( J;+71;J

R T

OR/3t&at

, i ‘
()  Find out the Maxima, Minima and inflection Point if Y= 40+3x-2x’+ %
VT I, o i L R (Y

£

3
forg frerrfera, afz Y= 40+3x-2xz+3‘3_







{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

